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1. C f’(x)=%x2;f'(4)=

2. B Summing pieces of the form: (vertical)-(small width), vertical =(d — f(x)), width = Ax

Area = I:(d - f(x))dx

3_
3. D Divideeachtemby n’. lim —"—>" = jjm— & =3
n=op’ =2n° +1 n—m]__2_+ 1

n n

4. A 37 43(y+x-y)+6y% -y =0; y'Bx+6y%) =—(3x% +3y)

,__3x2+3y_ x2+y

3x+6y° | x+2y°
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5. A lim = i lim Cak), Gl I8 lim (x—2)=—4. For continuity f(~2) must be —4.
x=-2 X+2 x—=2 x+2 x—=2

41 4 3
6. D Area=_[3;dx=(ln|x—ll]'3:In3—]n2=ln5
,_2:(Bx-2)-(2x+3)-3

; »'(1)=-13. Tangent line: y—=5==13(x-1) = 13x+y=18
Gx_2)? g y (x-1) y

8. E y=sec’x+csc’x
9. E  h(x)=f(x])=3|x[-1=3x2-1
10. D f’(x}=2(x—1]-sinx+{x~1)2cosx; f(0)=(=2)-0+1-1=1

1. C  a(t)=61-2;v(1)=3t>-2t+C and v(3) =25=25=27—6+C; v(t)=3t> -2t +4
x(t)==1* +4t+K; Since x(1)=10, K =6; x(t)=1> ~1> +4t+6.

AP Calculus Multiple-Choice Question Collection 206
Copyright @ 2005 by College Board. All rights reserved. Available at apcentral.collegeboard.com.

AP Review Page 1



AP Calculus Multiple-Choice Question Collection 206
Copyright © 2005 by College Board. All rights reserved. Available at apeentral.collegeboard.com.

AP Review Page 2



1993 Calculus AB Solutions

12. The only one that is true is II. The others can easily been seen as false by examples. For
example, let f(x)=1 and g(x)=1 witha=0and b= 2. Then I gives 2 =4 and III gives
2=42 , both false statements.

13. pt‘:ri{:vd=ﬁ=2—fE

B 3
2
14. Let = x> +1. Then J‘ o dx = J‘u_uzdu =2 +C=2x*+1+C
Vxd +1

15. f(x)=(x- 3)% +2(x— 2)(x=3)=(x-3)(3x-7); f'(x) changes from positive to negative at

7

X=—.

3

16. y'= y Akt I SN x; y'(n/4) =2tan(n/4) = 2. The slope of the normal line

secx
ARILINRNRRR
y(m/4) 2
17. Expand the integrand. j (P an?de=[ (x*+ 227 +1)dx = %xs +%x3 +x+C
A1) (b0
. th t ! = e =—
18 Want ¢ so that f"(c) T = e
212
1 c
"(c)==cos| = |=0=>¢c=
7@ =3eos( =02 c=n

19. The only one that is true is E. A consideration of the graph of y = f(x), which is a standard
cubic to the left of 0 and a line with slope 1 to the right of 0, shows the other options to be
false.
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